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Carefully read the instructions given on Question Paper, OMR Sheet
and Answer Sheet.
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Question Paper is in Hindi and English language. Candidate can
choose to answer in any one language (i.e., either Hindi or English)

39 AGAAR F & AT §| #ET o F IR ueT R smr & 7
a9 &

There are TWO PARTS in this Module/Paper. PART ONE contains
FOUR questions and PART TWO contains FIVE questions.

oI T “dhfoush” YRR FT § SR Fo 3w 40 § T T A,
‘SAFARF” TFR & IR $6F Ter 3% 60 T

PART ONE is Objective type and carries 40 Marks. PART TWO is
subjective type and carries 60 Marks.

HET U & I, 3§ G-I & @Y & T8 MNTANR F-Gaw
W, 387 RF a0 et & IgEr & RI o= &1 osmr & A
IH-YREAHT H A0 T & IR At F s =ik

PART ONE is to be answered in the OMR ANSWER SHEET only,
supplied with the question paper, as per the instructions contained
therein. PART ONE is NOT to be answered in the answer book for
PART TWO.

T TF & fav Aedd &g @A wF gver [Fuila fr a5 &
HET &Y T STR-GRAR], HET TH HI S-SR AT A H
geaTd & Seel| qunfy, FUiRa e 6 @ 9w oW ' g e
arer gt T v B 3eR-giEae e w diva &l 91,
e @t T SA-gRdR o Fhd g

Maximum time allotted for PART ONE is ONE HOUR. Answer book
for PART TWO will be supplied at the table when the answer sheet
for PART ONE is returned. However, candidates who complete
PART ONE earlier than one hour, can collect the answer book for
PART TWO immediately after handing over the answer sheet for
PART ONE.

wQareff, soRufrafE W FEmw v e sk e
sR-gRa®, e # 9@y B, e efq A G ol g
¥ A S W, e A g Al / W F g afvT
FT = Jmeem|

Candidate cannot leave the examination hall/room without
signing on the attendance sheet and handing over his Answer
sheet to the invigilator. Failing in doing so, will amount to
disqualification of Candidate in this Module/Paper.

TRA-GIETH T Wl & Ay Aol & geard vd 3R forgar
HREH A § ggel 3FHIcaR g Siig R FAREd o= of & gea-
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After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete in all respect.

dre: I R wvwor & 8 Jie / Ruwfa o ard 8, @ 33 sraear # HASh @wwor § A @er |

Note: In case of any discrepancy found in Hindi language, English version will be treated as final.

SIS deh 3TAH Fgl o ST, dd deh YRA-GREAHT o Tied |
DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




HTIT THh / PART ONE
(@sft weaAt & 3w & / Answer all the questions)

1. A 9AF W F IW F F¢ AFeq T 71w &
TIH 39gFd faFer g 3R 3@ woT o F Ay
3YY FIT AT “HMTANR” ) 996 H, 39H fGw
e el & IeTER, gof F|
Each question below gives a multiple choice of
answers. Choose the most appropriate one
and enter in the “OMR” answer sheet supplied

with the question paper, following instructions
therein. (1x10)

1.1 THUH-3S & FFaeY H el IT faavor T &7

A) Ig aif¥e ROE R = & fow g3 Far ar
ThdT gl

B) SHHT YA Sgel cATFAA H1 Astel & faw T
eEdTaST GISTel et g foham ST Fehell &1

C) SHA 3ifel hiere Fiaem A ereghrer 1 Flaem g |

D) ¥g feT 1T 3iTehst & ATh FISAT X Tehell B1.

Which is incorrect statement for MS-Word?

A) It can be used to prepare annual report.

B) It can be used to generate same document to send
multiple persons.

C) It has autocorrect facility and dictionary facility.

D) It can create a graph from given data.

1.2 gUT UsehifSIT HTeTeh il AT § ST TcAh ot &t fafrse

HEAT YeTeT T g7
A) Unicode B) ASCII
C) ENIAC D) IBM

Which is the character encoding standard that
provides unique number to every character?

A) Unicode B) ASCII

C) ENIAC D) IBM

1.3 Cache AARY &7 313 ITHR HiT TT?
A) 2048 ThaEse B) 3072fhdlErse
C) 92162 fheltamse D) 512 freilerse

Which one is the invalid size of Cache memory?
A) 2048 Kilobytes B) 3072 Kilobytes
C) 92162 Kilobytes D) 512 Kilobytes

1.4 THUH-dS H Tk oI5 BI5el @ielod & foIv 5 QAic-ahe
il ST TANIT TR SITdT &2

9

A) Ctrl+W B) Alt+N

C) Ctrl+N D) Ctrl+F
Which short-cut key is used to open a new file in
MS-Word?

A) Ctrl+W B) Alt+N
C) Ctrl+N D) Ctrl+F
1|Page

ROUGH WORK SPACE:

1.5 sl 1010110110011 & TE gFar-sdH

gfafAftca Hlaarg?
A) 12663 B) 15B3
C) 3B51 D) 5555

Which is the correct Hexa-decimal representation
of binary 10101101100117?

A) 12663 B) 15B3

C) 3B51 D) 5555

1.6 TH IR FT TUHATER &1

A) A ge RO B) AR a13C Repis
C) AT §c Nepls D) AIEe 1 Reprs

MBR is an acronym for
A) Most Boot Report
C) Master Boot Record

B) Master Byte Record
D) Most Burn Record

1.7 egeX # HTORTET AeeH @Ry el § Y & Sird
g7

)  HART &t i) IfshaT Tate
i) T3arsd gt iv) RISl JetIeh
A) i), i), iii), iv) B) i), ii), iv)

C) ii), iii) D) i), iii)

Which tasks are performed by operating system in
a computer?

i) Memory manager ii) Process Manager

iii) Device Manager iv) File Manager

A) i), i), i), iv) B) i), ii), iv)

C) i), iii) D) i), iii)
1.8 B8 ¥ Bll d& T Jal FT s A & T Tar
Jareq HlT ATE?

A) =ADD(B8:B11) B) =(B8+B11)

C) =SUM(B8+B11) D) =SUM(B8:B11)
To perform addition of all the cells from B8 to B11,
which is the correct option?

A) =ADD(B8:B11) B) =(B8+B11)

C) =SUM(B8+B11) D) =SUM(B8:B11)

1.9 Ffai@d & @ ST & B SR I§ ghad

AT & o e G o g 1 TS 3
A) .BMP B) .DOC
C) .STK D) .PPT

Which of the following file extension indicate file
created in Paint?

A) .BMP B) .DOC
C) .STK D) .PPT
1.10 il AT Teh AARY T TR o761 67
A) ROM B) Cache
C) EEPROM D) Joy-stick
Which one is not a type of memory?
A) ROM B) Cache
C) EEPROM D) Joy-stick
M1-R4-07-18



2. AR & T 9@ faawor I ar ¥ Ir T a g
TF FIW 39T faweq g 3R v Raed goa
99 F HIY 3Tl FIT AT “INTHAR” 37 I9F &,
v arv et & TR, o (1x10)

2.1 dlaR-UIsc H TATSS QY 3RFEH el & foIT F5 eMic-ahe
el

2.2 1011 3% S AHIT GEIT FHT Teh 3SEI0T &l.
2.3 I3 §C U% &uel ¢ S ¥ & v asdyg [aRka
Fr gl

2.4 FeIac] Ueh fATeH ATFedI § o 3TT-TadF Slegdal
T 7T IS H 3fefare YT 8

2.5 f3aTSH S8R Toh WA § ST Ueh HgX F 3 Th
IERRRECIEG AT RIECERGIN]

2.6 oTel TRAT Acdeh Hegedl T Teh scde ¢ il Teh aa
fafeger 3 oemar ST &

2.7 e, T4, Tl Yoie 2T & U&7 & S0 ¢

2.8 dir 318 &1 FHATS ¢ g foladd # Is HAS & TAWT
FY A 8

2.9 ThoRt 3R T geTqe 3arsd & Thr & |

2.10 64 FIMETST HT 7T § 65536 fhallaTsc |

2|Page
ROUGH WORK SPACE:

Each statement below is either TRUE or FALSE.
Choose the most appropriate one and enter
your choice in the “OMR” answer sheet
supplied with the question paper, following
instructions therein. (1x10)

2.1 F5 is the short-cut key to start slide show in

Power-point.
2.2 1011 is an example of valid decimal number.

2.3 Red Hat is a company who distributes license for
Windows.

2.4 Converter is a system software that translates

high-level language into machine code.

2.5 Device driver is a program that controls a particular

device attached to a computer.

2.6 Large Area Network is a network of computers that

spreads in a large building.

2.7 Letter, A4, Legal are the example of type of

presentation.

2.8 dir is command of DOS that works like Is
command in Linux.

2.9 Scanner and speaker are the types of input
devices.

2.10 64 Megabytes means 65536 Kilobytes.

M1-R4-07-18



3. Hrad X 7 & 710 erea} 3k arerat 1 AT Fra# ¥ & Y v Apeaw qafra 1/ arsel / arerat @ w3 397
ferd 91w areperelt 1 AT A U 9 RFew wodt wF & Wiy R ¢ “IHANR IW 9HF H g F (1x10)

X Y
3.1 [qreatr St T MR A |2
3.2 |gg I-31T0R AARY § S =4 Aot @RI Bers o Tl § B. | Shift+F5
3.3 |ue faQY &1 78T W gH e fog Fhal § Ig GFAAT TS o R | C- | Relerter Sererg HAetoreie
fe@mar = §. RAeea
3.4 |3z N wrso TUE A & AT T IS Bide g D. [AVI
3.5 |3=T &THAT & ATY Teh YohR T GAGOT STRIUT. E. |NTFS
3.6 |2rg et Tarael 3 e o ITOTRT & 3TEH & IARTH § F. | EEPROM
3.7 |feret JitoRfEer e & Teh Yeh ol Bigel TAECH G. |avg()
3.8 |RDBMS H. | foaars
3.9 |¥g adHA TS A TATSS M 3RFH & fow eie-ae & L &=
3.10 |&3er v & ieT o STTeY aTelT FeEeT J. | DVD
K. | soaa
L. | F10
M. | @

4. A RT 71w y@% g & AT § 78 F F v reg 1 aww B frws F v Rea vurer o = §) aa
Wmﬁwmmmmﬁmwmgmmmawa;wmm“Mm”

IO ITF A gt Hl (1x10)
A. ctrl+c B. Min C. 3 & yRATH
D. 8 E. 1024 F. drop table
G. |grussig H. |ctri+e l. delete table
J. e deT K. | ersies L. Fopen
M. png
4.1 BN IO 3R gl aitled 8§ FFafUd gl

42 R W YT & THY, Toh T35 A 30T To5s H Sd FAY glel aTel TellHTeT F8Id I
F T HA ST ST B

4.3 Tl =g Y AT AT Y o6 & S A dfedecy el & fAU v ie-ae g

4.4 TRl T YT JeAl & &1 F TgdH Al Aledd Fad & v famar swar g

45 giawr shael T Ry AT Caee HT Hide Hidl I ¢ [awgaEg 78

4.6 39T ¥ UH diforer & geld & faw HATS FT T fHAT FTT B

4.7 A & TALYT & Tov &S any aAfda vk s BT Bl

4.8  3ffeFeel TEIT YT T YR gl

49 1KB J18C & K &l

410 HABH & FAET § G H Th AT § @l & HidT AT o1 Hbar g1 54 F T H ST
ST Bl

3|Page M1-R4-07-18
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3. Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in
column Y. Enter your selection in the “OMR” answer sheet supplied with the question paper,
following instructions therein. (1x10)

X Y
3.1 |The Base of a Binary Numbers A. 2
3.2 |ltis non-volatile memory that can be erased by higher voltage B. Shift+F5
3.3 |A particular area where we can write text that is shown on every C. Relational Database
page of the document Management System
3.4 |ltis a file format to store video file D. AVI
3.5 |One type of storage device with high capacity E. NTFS
3.6 |This symbol is required at the beginning of any calculation in excel F. EEPROM

3.7 |Atype of file system in Windows operating system G. avg()

3.8 |RDBMS H. clipart

3.9 |ltis short-cut to start slide show from the current slide l. header

3.10 |Symbol used in email address J. DVD

K. equal
L. F10
M. @

4, Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.
Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with
the question paper, following instructions therein. (1x10)

A. ctrl+c B. min C. IT Act

D. 8 E. 1024 F. drop table
G. drag and drop H. ctri+e delete table
J. Format painter K. transition L. Fopen

M. png

4.1 deals with cybercrime and electronic commerce.

4.2 At the time of on-screen presentation, the motion effects that occurs in slide show when moving from one

slide to the next slide is known as

4.3 is a short-cut to align all the selected sentences in center of the page.

4.4 function is used to find the smallest value in the range of cells.

4.5 facility copies only format of the selected text not the content.

4.6 To remove a table from the database,

4.7

command is used.

is a file format supported by Windows to store images.

4.8 Base of Octal Number System is

4.9 1KB equal

bytes.

4.10 One can copy file from one location to another using mouse. It is known as

4|Page
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HTT &Y/ PART TWO
(fh=€1 T weat & 3aX & /Answer any FOUR Questions)

5.

a) Y F HIET 3YRON W Uk Ffared feoaofr
forg|

b) IRSETATH H FrAfAE Folt AR FTEA Foll
TTEROT T ATEAT FY |

C) (43EF);s & S5t & 3R (1349),, & S &
fasfa =

a) Write a short note on storage devices of computer.

b) Explain the concept of primary key and foreign key
in RDBMS.

c) Represent (43EF)y into binary and (1349),0 into

binary.
(7+4+4)

a) TFH H BRI HR B & o b1 AT §?
3ETEI0T TEJ Y. apeflc & GeRrEl & R T
3&TUT; count, max, if, sqrt & 9T SITEAT Y |

b) fasrer TR BreH Fr T TR T Beea &
AT Tolell Y|

a) What is the difference between function and
formula in Excel? Provide example. Explain the
working of the functions with example: count, max,
if, sgrt in worksheet.

b) Compare the Windows operating system with Linux

operating system.
(8+7)

a) fAFIfaT@d Uet S camear
) UHTH TS H 3iTer HIFrT
i) T3FF ST
i) EeT YBd
iv) od e
b) HACHIEAT & 390 & A v IR FAT F I
SATEAT Y. ACCIANTSAT BIScl o ATHIT: TIET glet
Tl WIS BIHC & AT o |
a) Explain the following terms:
i)  Auto correction in MS-Word
i) Disk defragmentation
iii) Cell reference
iv) Web cam
b) Enumerate the components of multimedia and
explain in brief. Enlist the commonly used file

formats of multimedia files.
(8+7)

5|Page
ROUGH WORK SPACE:

a)

b)
c)

a)

b)
c)

3T Yatel YUl hl &7 3aeThdl g? Tafold
3T TS JUTel & ol 3&T8<0T & |
HEATFER, T IR IAFTCR I Jolell Y|

T (SPAM) 3R arszd (VIRUS) & &1 T Heak
§? 3T 39 FATeH &l A8 o & Hd adT Fohd
g7

What is the need of Database Management

System? Give three examples of popular Database

Management System.

Compare Compiler, Interpreter and Assembler.

What is the difference between SPAM and VIRUS?

How do you avoid each of the two in your system?
(7+3+5)

giaR-gigc YoierleT &I Toss & faffies fawarar &r
EEIETY

HART & geffeyor oY feegolt forg]

YIS 3RETOT JOTell 7 oIl WeAIee & gaiar &
ST HY|

Discuss the various layouts of a slide of
Power-Point presentation.

Write notes on classification of memory.

Explain the use of information technology in
Railway reservation system.
(5+5+5)
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